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SEM-| EXAMINATICN — 2014~ ot
M-102 : THEORY OF METRICES AND CO-ORDINATE GEOMETRY

TOTAL
MARKS:70
INSTRUCTIONS: (1) All questians are compulsory.
(2) Each question carries equal marks.
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ENGLISH VERSION

If A'and B are invertible matrices of order n then prove that
(AR)Y 1=pB"1471.

211
Find the rank of matrix A = [4 2 2
122
OR
2317
IfA=[4 3 1 [thenfind A1
124
If A= [2 +i 3 -l +321} then check whether A*A is Hermitian or not?
-4 i 4 -2

State and prove cayley —Hamilton theorem.
If Aand B are symmetric matrices of same order , then prove that if A is a Skew

Symmetric matrix then B'AB is also Skew Symmetric matrix. And if Ais a Symmetric

matrix then B'AB is also Symmetric matrix.
OR
Prove that AB=AC but B # C Where

1 2 3 1 2 3 2 3 4
A=l1 1 2Z[;B=]1 1 —-1|;C=|2 2 o0}.
-1 4 3 2 2 2 1 1 1
(AN A, 4, Az e Ay, are the eigen values of A =[a;;]then prove that,
22 A A,,° are the eigen values of 43 |

(2}if A is the eigen values of invertible matrix A = {a;;] ,then show that,

(1) % is the eigen values of AT and  {ii) I:;' is the eigen value of (adj A)
Find the Eigen values and Eigen vectors of the matrix [; 3]
Solve the system of equations by crammer’s rule.
SX+3Y+7Z2=4; 3X+26Y+2Z=9; 7X+2¥Y+117=5

OR
1 1 3
i 3 —3]
-2 -4 —4
Verify that the following system of linear equation is consistence or not ?

X+ 2Xy + Az +3x4 = 5,22 ~ X3 =324 = 5,0 — 2X; X3 = 1,37, + X, —%3 —bx, =6

Verify cayley Hamilton theorem for the matrix A =

If o, B, v are the roots of the equation f(x) = 2x* + 3x* —4x + 1= 0 find the
equation whose rootsare | | |
l—a¢’ 1 -8 1 -5

Solve the equation X'+8X +18X 4 X +5=0 by ferrari’s method

CR
Find the equation whose all roots are less by 1 than those of the equation
2x%+9x% 4+ 8X+2=0
Solve the equation by cardan’s method:x® —3x2+9X —14=0
Find the polar equation of st.line passing through the two points.
Transform the equation inte Cartesian equation:

(1) rcos20=5(2)r(cos38+ sin30)=sin#cos g .

OR
Prove that the equationr=a cos 8 + b sind , aand b are
Non-zero constants represent the circle, Also find its centre and radius.
Transform the equation 2x’-y*-z* = 0 into polar equation

(7]
(7]

f10]

(4]

[7]
7]

(7]

(71

7]

(7]

(7]

7]

[7]
71
(7]

[71



